Theorem 4.1 Let f: D — Rand let ¢ be in D. Then f is continuous at

¢ if and only if wheneverGu)iaisasequence in D that.convergestongy then
(f (xu)nepcOnvergesto. f(c).
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Theorem 4.1 Let f: D — R andlet ¢ be in D. Then f is continuous at A _(_‘,(d
¢ if and only if whenever (x,),cn is a sequence in D that converges to ¢, then i
L (f(x4))nen converges to f(c).
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Proposition 4.4 Let f : R — R be continuous on & with f(x) = 0 for all
xin Q. Then f(x) = 0 forall x in [R.
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Proposition 4.5 Let f: D — R with ¢ in D. If f is continuous at ¢, then

thereis)a neighborhood U of ¢ such that f is bounded on U N D.
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there'is.a neighborhood U of ¢ such that f is bounded on U N D.
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Lemma 4.2 Let f: D — R with ¢ in D. Make the following suppositions:

I If (xy ) e isasequence in Q N D converging to ¢, then ( f (x,))yen converges
to f(c):

and

2. If (x,)nen is a sequence in (R \ Q) N D converging to ¢, then (£ (x,))nen
converges to f(c).

Then f is continuous at c.
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I'.l If (x,)neri 1sasequence in Q N D converging to ¢, then ( £ (x,))en converges

o f(c):
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